Q).

Q,

3.

D08 erenk Gk i
P60 = -3 4 )
}()L.{r}f\) = 2 - 3()(4%) +1
= 205 Uy L1> ~He-dht |
= 2 U 3 UHE — DBt |
Focm) - 6o =
ity Mot i 2hFe S — 3 Bl = CZ)& %m)

2t = B B i BN

= Ll’\-nL«\— ZL 3

Fou) - B0 . Ui B30

h h
¢ bae k=3

L 36um)- $6) - b2 (e) =3
L\—)o )\_

= | Lx -3

Y= L -3y
gy & (4—3x>

= 1<4 3)() (3
ey Y
—3)(

(3+>(
‘1 X

dyy ()l = Caral(Bary) (.
a‘:)—L - 3 +
Jaxt (J i —XJL>
r_- r———’ ;>c+3h
Xt + q >c7-
X4 q->*

AA D

2
= E SCES
- M\W [ Ja—

:

q—>*

= JZ; . 3 yﬂi
X4 (Q —xﬂ:ﬁ/
a4 -x2)
= _,,,3___
Bt



3
W) y= lall)
i l 3 dss)5 b L 868y (352
e = W +Cs* dxx @J—‘H)S' Pover i1
b & Loy /= ™=
1552 x>r) |
@ x=5
de~=.
dx [+25(D)*

[£]
l:‘?___
RUJ

: Quobied Rl
e

= v V"> %j = @
dy _L(u_-gx> ¢ [ ee-0(3) ~(+390) 4y
dx ~ 2 % (x-1)* —

dx
i (oS 2C
= L f3t=4 J%-B4i-B% = —ShX . e
2 | 35l

CDL—()L

CoS(O)
‘Lj XE = ) .e

; = ‘O,el
____(—q ) - o]
(u)* '

Vi) = NN A

LN
3 @ d‘d o 3 (oﬁichl).[*,ﬁx}\ (fxi)) 2 3B
40 . e o ol
'“) 3-= - @
‘_JL”S N 9(.(63‘., 3) - 6’3&((> = | =90% Cog’]'(§f>. S ng}) l
d)(, - )C’L
3¢ 3
— 3 e
x*




Qs. f?(%) = xz ot -k
ﬁ‘(a&: 3)(7' {—Z)ZDC
= Lo@l mif\/-’*\aoc p}(x) =D

D gk = O
D(_{'gm A 2}’&> =D

sewmit Sor S kilh =0
3= -2k
iz {3
—E ‘R/\d Y val&cq
: ® x =0 y = or*s ki* -
= - b
= i(o,-u)!
@ e —Zh/3
~2ky73 _QY‘
l;]=( 33) 4—4]13 5 =%
= _12 + - o~ &
—gp3N112hY Lok
2rt-a 2
Lok 240}

5 23
~lh k3108
:>)' N e ) \

B6.|-y= (t-2)e
dy _ G-2) SRR )
Ix

: S'Z)L(Lf -O¢ + 2>> =0
23.8-’&*:0 or LTl 2O
SR T e
W e D milodD| O
(> 4p )0 12) =5
o=l O N2
@x=-1 Y= él) —7_3@_1( . ~pit
@ x=2 2 C@ —z> -2) 2/6

Prodmcke
Qe

1i

= »«mmg P%s (-1, -¢) (2, %)

3 =
@q' ’?’(){,) o >: 3(1—1)
) %(1) = —%CJL/L)'I(\) ‘ZD "
; Qc 2.)"
AS -“us , s < O VXER
= OQCLD d«mﬂs &0&3\/\5

1) Tareed = Bxelyrkeo

Slape o T;'t-‘— ’2(': - %
S0 09, =

= 5:6—:1 or Y= y-2
D 3
] . 2

FlIese POuUS s b L on H\Q

%'*3

3(e) +4(2) + k=0

@

Lf)+ Lr( =) ks




~ , 4V x
'g. Gwey\ aF - tlg cm3ls
Weak 4;[{-
)/\.f\h : \/ = l’rrll\,
\/ & Wf”(o-l)
. W2 sdre®

Did both sides web &
dV _ oarm e de
dt d

/ 7 -

= I . 049 266).

10 "

Fla

=l
o

B, s= to’(u‘z% 3k
‘ _ 88 _ 9y
SperL- el b&

@3
Sf&ld = ?,Lé’*é[g)

= [6nls]

o | - Bxt+ 5y = 13

D%M@k& sk T wak wl

Ox+ log. dy - O
ax
lQa : 3—% = -lox
A R
-OT;« 193 4

Q1)
1} Gweiss L% 0:28 tnls
Wk ﬁ—X
L‘,\k F o freth
@y W e n—ﬂ'('zr)
=y Y = 27’1’(‘3
D,;&Q AR &
> W 2y (3*)de
di b

= éTrrZ—QLf;
. dr

=5 Ag%/f = érr(z)z(o-z"s)
- é.'n" cm3)§

(,, i ) Can ‘{’ Lﬂk : \/ and A (Ld’d/‘»b
So /\Qad tm 2%& % %fst :
C’f wen

_ 5ol

&\% &

Wisnts
Law.. V.= 2mc3
OJQ— ke i 6 ]

_ bt dr
s
gﬂ/(s)z a

- i o
Gre

Fon dboué

4" l
30 mis

= =
Now®

Went ¢
Lk A= 2urhy 2ur”
Lol 1) UL

bemp® e e

&5

I

i

= A = Lk



Dl% W b t

_&_’_4— = éﬂ'(Zr)g{;
Ak df

= (s, (—3‘;)

2 cocls)

Q.
[’UL‘Q/\ lﬁx }QM U\‘p;
%’*—z’x N
;) \/: L > w % K

=24 -20015-20 GO
DR | RN
=it It ol 15 T
= Bhoo —hExt - 30 a3

- L ® -8t 30 x

() {hax

5
ok

v
o> &

[l =158 +n 2 O

=0

= x¥- [3x+ 30 =0
(e e ¥(o = .8 JES
Dy s S e 10

X ool b2 lo ay wilh

wodd e /LQQMé :>@

Vol max = 4(2)° — Fal3) 4 3id3)

- [hge |

Q3.

S e - ble-g) () = ®F

oC
> -3

"
<=

8:

—Kfﬂ\?\ﬁ {)ol,{% = J%X_ZQ
dy _ (=0 = GO
dx @’3)7_
il ok
e
= =3 ohih G onewee 0
- -
B3 D, benig pah

' 7
Posts & ' loblekan > Gt =0
-Oi’ﬁ = _’:_1_ ‘%(DL‘S)“z
dnt @_3)7-
Chann

d)('l 6 i«)\\(d’\ Ln  Neaer
= ()L—’?))?' ))Q O .
= ns phy o tneds,
&\L{' Gl;?/\ . %:‘é = 2 C!Y\}S
gy 7
L[th \/: ‘%t ‘“—rg
Dl%‘ 'w,r,&? LL,' 3
‘d_’\_'{ - _Lt T (3r2>, éf
de 2 dic
= . biprd, _i_»tﬁ

v .
dre = lealdl 23
- | 21T (mB/S



YEad xted
k_;): C)LL— 5) .
" Ck{c};[i\
7 &
> % - L) ) &
oy
Jxt-3
@ ()\;{/\r CZ,\)
dig 22
dx ~ ()@)1,3
= 2[5
—Ll—‘_l_“' - L__}
gy o ) =0l )
9 =, 2 21—- L(-
Firse nced Aea o bomg
S e 3
V2 Lxw sk
> 1Lz x(Zx)Cg)
=5 - _*2
2 3= T
D T8A= Tinen Do 2Lk
= 2000+ 200(32) +2(/ a2
(02 (i)
= Ly b ouy oy 22
2C 2C
= Lty %ﬁ%
,MG\ = %—/}c = O
dA _ Bxr 260G
drt
5 |

fu® = 214
> = 2%
=
= 3
| g p B2 i
Za)®

D Dimersis = 3,6, 4

S Toh = k(@) 4 Zg_b
3 4+ 32

= [lo ]

i

Q\?—' 3C1+le‘éx+ 33 +&=0
D;o@ each L‘Qf”\ e
2>L+ %-_éi_é t 34_,3 L O =0
dox doc
zj"%“'g‘(}j‘i‘— é-—zx
\Jﬁ‘_ (23 "(3) e 8= 25
dx
—Gde
i s %&. %y 3
(=1,2)
dy _  6-20 - | &
e 2+ iR
Ql% 4 & bo?e b i
- YT =2 U N2
cfor— | , . ,
)Cz'%{% - %_?c | h

2 xlch*’L‘\l) —21( 2~ l2x) V0% = &
U 2 Al 4 Lo )52 20

A =0

QED.



